




8.1.3 Efficiency

fl. Relative efficiency
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Var(F) 0’
”

. . . . . . . . . . (8.1.3.6)
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X -- 1.96 s
6

<p<X t I.965
6

. . . . . . . . . . (8.2.4)

%U& X - (1.96 5 ) ~~Uhl  ~Gl~l~@lFI'J%JL$FlhJ"e-ad?9  (lower confidence limit),

X + (1.96~) LiUr;a'l  %Ph?%FlaWL&&IJ~  (upper confidence limit), Lb% 0.95 L%Jfla'l

, ,
&J~~~%'l~Fla?%.l~%~Ih  (confidence coefficient) S?J&l  n = 40, X = 52.2 %bl'%La~  s = 8.52

?palw"  bbV'lUFhWS~?A  inequality (8.2.4) %&

8.5252.2 - 1.96 .52 CpC52.2 + 1.96 __
0 m

X - 2.33 z
6

<p<X + 2.33 L
6

. . . . . . . . . (8.2.5)

LLYlMh  W = 52.2 ; s = 8.52 ; n = 40 n"PO"ab

8.528.52 CpC52.2  + 2.33 __
fi
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48.72 CuC55.68
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.

1.96 'Ooo
2/;; = loo
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0.95
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O/I1 1/n  2/n 3/n 4/n u/n
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L~lRl%Jl~tlTldl'2~kh  probability 0.95 d inequality &hP?9
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1.96 /
(0.55)(0.45)  =

‘I 6 0 0
0.04 (H% 4 bPlOil~U6)

1.96
r---

P(l-P)  =E
n

Hlvil n 16 n=p(l-p)(  F >’ . . . . . . . ..(8.4.9)
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n  =  (.80)(.20)  (  g  )’ =  1537

cc = 4,,+=  7 ~4,~=2

0; z +q!I)=~(?z)=L1.666
3

5 = m = 1.29;zo,  = 1.64 x 1.29 = 2.1
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S - 1.96 o, < pupulation  parameter < S + 1.96 CT, . . . . . . . . . . (8.5.1)

I.60 O,  ~~daua~glsbEIPaaJ?~s~l~~~~  sampling distr ibution TICI9  S (Fl7a1Ufl~lFlb~~OUllO9  S)
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S - 1.96 -% <o<S  + 1.96 L
fi 0

. . . . . . . . . . (8.5.2)

0
0, =  ~

fi
. . . . . . . . . . (8.5.3)

LiW-Wnl~  (8.5.2) &Jb4ti

8.52
<o<

8.52

1 + 1.96 1 _ 1.96

fl d@

0.6745 oF p9% 0.6745 -!-
6
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P.E., = 0.6745 L
\/;;

P.E., =

P.E., = 0.6745 ?-
G

L3lliY N - n
3 = ~ __J

. .._......  (8.6.1)
N - l

L311% . . . . . . . . . . (8.h.2)

N - n _.,._.__..  (8.6.3)
N - l
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1% =JIpz = 0.995

adjustment factor
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6--d * zo.,.,,  = (s,--sJ  + zq-m . . . . . . . . . . (8.7.1)

(it - X2) f z ox,  -x2 = (2,  - 2,)  * z
I

0: 0:-+- . . . . .
’ n* n2

..(8.8.1)

CL, U) = (X,  - X”) +  z II/ ofi / nA + 0: / ne

L c 1400,  SA = 120, "A = 150, xe = 1200; sg = 80
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%Ub$O 2 = g = .5, z = :p = .25,~ = 1.96

(.SO-.25) ?z 1.96 v' (.5)(.5)/'600 + (.25)(.75)/'400

= .25 k .06 94~0 0.19 < pl ~ p2 <0.31

au&l s; =
X(x - x,)’ + X(X - iJ2 (II,  - 1)s:  + (11,  - I) i:

n, + "2 ~ 2 n, + “2 ~ 2
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(2, - X2)  + b;  n ,  +  n, - 2s,
. / F - z -

. . . . . . . . . . (6.10.1)

ItdO  n , ,  n2  iFlal%JZiR3:7%4

(X1-&)  = 40.33 - 36.54 = 3.79, tols,  ,6 = 2.12

s:  3 (n, - 1)s: + (II; ~ 1)s: (9  - lj25.25  + (9  - 1)34.61= _____
n,  + n2  - 2 9 + 9 - 2

= 29.93
,

= (40.33 - 36.54) _+  (2.12) x+29.93
9 9
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